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é6-A-Day — Computer Science GCSE (9)

Q1 A shopping centre uses several remote-controlled CCTV cameras for security. An operator uses a
computer to watch, control and record the output of the cameras.

State an input, output and storage device which will be needed by the computer. For each, explain
the reason why it is needad.
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Q4

Karen wants to use handheld computers to take customers’ orders in her restaurant. She is thinking

of using custom written, open source software.

Discuss the implications of creating open source software for the restaurant.
The quality of written communication will be assessed in your answer to this question.

QS State what is meant by the character set of a computer.

Qé State what is meant by a syntax error, giving an example.




